R2? <~ M4F g1 FEI0EHR4E 2

N2 ARM4EER L TR LIIIBER AWM E Y o

— vdd kermE] D E TR ke (B8 4)

Fren & T ]
el R L W A 2k
BIRE R %,L%‘f/ll Rg%%]’]&}}i% 7T’L§ ;},ﬂwg R

RE B ES
15 wREAE AL SR

SR LYREE G
()R> E TR LAFRE | 2 TRRIFLAGFHE, PIF
pP1M3#972 10p + = 9423 10" 14 p T = 4p5)k -
(Z) PR ESIR DR
A 113&10’9 3p T Op423 10" 14 p T = 51k o

SR TR F AT

(-)ELsrad g AR - o TR | 2t

(z)2FH b p 1 M3E107 3p43 107 15 p 2k (RpEELZE
WH P L) o

fui

A S L e i R R
RV L EFETLATAN  FefF LT RFHFRRAAE -
I ~HB ixgg‘z_fﬂ‘s?:};;&_ HF (GG A3 2 T3 | https://exams.ccu.edu.tw/
2 )
MR R A BT TR LAF R T RBRIF LU R RS
PEP PR UL TR LR B U EREE P RIR L

W

e

v

KA 2 2F G RAPR FAAd 2T AFLAALF T
METLF TR R L P RTINS F o



